

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Castaic - Hasley Hills South

Project ID: RDC0015875

Bids Opened: 8/8/2023 Project Manager: Aaron Miank n/a

Addenda: 0 **Duration: 170 Day(s)**

			Engineer's Estimate		(1) Sully-Miller Contracting Company		(2) All American Asphalt		(3) Toro Enterprises, Inc.		(4) C. A. Rasmussen, Inc.		
(1) Preliminary Bid Amount					\$	8,172,645.00	\$	88,432,335.84	(\$8,722,927.31	;	\$9,166,783.88	
(2) Unit Price Detail													
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/ MONTH)	4	\$500.00	MTH	\$2,000.00	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	PREPARATION OF THE SWPPP (STIPULATED UNIT PRICE OF \$5,000)	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
5	IMPLEMENTATION OF THE SWPPP	1	\$10,000.00	LS	\$10,000.00	\$28,000.00	\$28,000.00	\$36,000.00	\$36,000.00	\$120,000.00	\$120,000.00	\$89,700.00	\$89,700.00
6	IMPLEMENTATION OF LTWHP	1	\$20,000.00	LS	\$20,000.00	\$7,700.00	\$7,700.00	\$22,000.00	\$22,000.00	\$55,000.00	\$55,000.00	\$30,000.00	\$30,000.00
7	OFFICE FACILITIES	5	\$5,000.00	MTH	\$25,000.00	\$25,000.00	\$125,000.00	\$8,200.00	\$41,000.00	\$7,970.00	\$39,850.00	\$9,000.00	\$45,000.00
8	MOBILIZATION	1	\$580,000.00	LS	\$580,000.00	\$750,000.00	\$750,000.00	\$560,000.00	\$560,000.00	\$551,000.00	\$551,000.00	\$900,000.00	\$900,000.00
9	CLEARING AND GRUBBING	1	\$10,000.00	LS	\$10,000.00	\$300,000.00	\$300,000.00	\$125,000.00	\$125,000.00	\$27,000.00	\$27,000.00	\$32,200.00	\$32,200.00
10	CONCRETE REMOVAL (NON- REINFORCED)	345	\$400.00	CY	\$138,000.00	\$300.00	\$103,500.00	\$410.00	\$141,450.00	\$315.00	\$108,675.00	\$129.00	\$44,505.00
11	UNCLASSIFIED EXCAVATION	5029	\$150.00	CY	\$754,350.00	\$80.00	\$402,320.00	\$66.90	\$336,440.10	\$63.00	\$316,827.00	\$111.00	\$558,219.00
12	CEMENT STABILIZED PULVERIZED BASE, 8" THICK	105279	\$5.00	SY	\$526,395.00	\$9.00	\$947,511.00	\$8.00	\$842,232.00	\$10.30	\$1,084,373.70	\$11.00	\$1,158,069.00

Project Name: Castaic - Hasley Hills South

Project ID: RDC0015875

Bids Opened: 8/8/2023

Bids Opened: 8/8/2023 Project Manager: Aaron Miank n/a

Addenda: 0 Duration: 170 Day(s)

			Engineer's Estimate		(1) Sully-Miller Contracting Company		(2) All American Asphalt		(3) Toro Enterprises, Inc.		(4) C. A. Rasmussen, Inc.		
(1) Preliminary Bid Amount					\$8,172,645.00		\$8,432,335.84		\$8,722,927.31		\$9,166,783.88		
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
13	PORTLAND CEMENT FOR CSPB	2060	\$170.00	TON	\$350,200.00	\$256.00	\$527,360.00	\$280.00	\$576,800.00	\$282.00	\$580,920.00	\$308.00	\$634,480.00
14	PRIME/TACK COAT FOR CSPB	21058	\$5.00	GAL	\$105,290.00	\$8.00	\$168,464.00	\$7.00	\$147,406.00	\$6.85	\$144,247.30	\$3.00	\$63,174.00
15	COLD MILL AC PAVEMENT (> 1-1/2 - 3")	690598	\$0.45	SF	\$310,769.10	\$0.36	\$248,615.28	\$0.38	\$262,427.24	\$0.37	\$255,521.26	\$0.38	\$262,427.24
16	COLD MILL AC PAVEMENT (> 3")	256922	\$0.60	SF	\$154,153.20	\$0.57	\$146,445.54	\$0.60	\$154,153.20	\$0.60	\$154,153.20	\$0.62	\$159,291.64
17	AC PAVEMENT	30	\$250.00	TON	\$7,500.00	\$295.00	\$8,850.00	\$545.00	\$16,350.00	\$416.00	\$12,480.00	\$448.00	\$13,440.00
18	RECONSTRUCT MANHOLE	100	\$2,000.00	EA	\$200,000.00	\$2,525.00	\$252,500.00	\$2,500.00	\$250,000.00	\$3,000.00	\$300,000.00	\$2,020.00	\$202,000.00
19	ASPHALT RUBBER HOT MIX	8273	\$140.00	TON	\$1,158,220.00	\$153.00	\$1,265,769.00	\$174.00	\$1,439,502.00	\$162.00	\$1,340,226.00	\$199.00	\$1,646,327.00
20	ASPHALT RUBBER HOT MIX (TEST STRIP)	503	\$140.00	TON	\$70,420.00	\$200.00	\$100,600.00	\$220.00	\$110,660.00	\$183.00	\$92,049.00	\$221.00	\$111,163.00
21	COLD CENTRAL PLANT RECYCLED ASPHALT CONCRETE PAVEMENT, 2.5" THICK	105279	\$6.00	SY	\$631,674.00	\$12.25	\$1,289,667.75	\$15.70	\$1,652,880.30	\$9.90	\$1,042,262.10	\$12.00	\$1,263,348.00
22	EMULSIFIED RECYCLING AGENT	452	\$900.00	TON	\$406,800.00	\$832.00	\$376,064.00	\$880.00	\$397,760.00	\$885.00	\$400,020.00	\$800.00	\$361,600.00
23	PCC CURB & GUTTER, TYPE A2-8	426	\$50.00	LF	\$21,300.00	\$84.00	\$35,784.00	\$67.00	\$28,542.00	\$69.00	\$29,394.00	\$67.00	\$28,542.00
24	PCC WALK, 4" THICK	805	\$12.00	SF	\$9,660.00	\$20.00	\$16,100.00	\$14.00	\$11,270.00	\$14.75	\$11,873.75	\$11.00	\$8,855.00
25	CROSS GUTTER	147	\$700.00	CY	\$102,900.00	\$705.00	\$103,635.00	\$765.00	\$112,455.00	\$655.00	\$96,285.00	\$717.00	\$105,399.00
26	CRUSHED MISCELLANEOUS BASE	452	\$150.00	CY	\$67,800.00	\$122.00	\$55,144.00	\$210.00	\$94,920.00	\$167.00	\$75,484.00	\$676.00	\$305,552.00
27	TRENCH BACKFILL SLURRY (CLASS 270-E-500)	62	\$350.00	CY	\$21,700.00	\$455.00	\$28,210.00	\$325.00	\$20,150.00	\$600.00	\$37,200.00	\$428.00	\$26,536.00
28	AC PAVEMENT(DRIVEWAYS)	99	\$250.00	TON	\$24,750.00	\$255.00	\$25,245.00	\$545.00	\$53,955.00	\$588.00	\$58,212.00	\$462.00	\$45,738.00
29	AC PAVEMENT(INVERTED SHOULDERS)	1479	\$250.00	TON	\$369,750.00	\$190.00	\$281,010.00	\$162.00	\$239,598.00	\$208.00	\$307,632.00	\$220.00	\$325,380.00
30	AC PAVEMENT (CROSS GUTTER)	32	\$250.00	TON	\$8,000.00	\$330.00	\$10,560.00	\$545.00	\$17,440.00	\$400.00	\$12,800.00	\$329.00	\$10,528.00
31	PORTLAND CEMENT FOR CCPRACP	127	\$170.00	TON	\$21,590.00	\$250.00	\$31,750.00	\$275.00	\$34,925.00	\$276.00	\$35,052.00	\$250.00	\$31,750.00

Project Name: Castaic - Hasley Hills South

Project ID: RDC0015875

Bids Opened: 8/8/2023 Project Manager: Aaron Miank n/a

Addenda: 0 Duration: 170 Day(s)

	Engineer's Estimate	(1) Sully-Miller Contracting Company	(2) All American Asphalt	(3) Toro Enterprises, Inc.	(4) C. A. Rasmussen, Inc.
(1) Preliminary Bid Amount		\$8,172,645.00	\$8,432,335.84	\$8,722,927.31	\$9,166,783.88
(2) Unit Price Detail					
<u>Item Description</u> <u>Qty Unit Price</u>	<u>Unit</u> <u>Amount</u>	Unit Price Amount	Unit Price Amount	Unit Price Amount	Unit Price Amount
32 PCC WALK & DRIVEWAYS, 4" 12180 \$12.00	SF \$146,160.00	\$13.00 \$158,340.00	\$14.00 \$170,520.00	\$10.50 \$127,890.00	\$17.00 \$207,060.00
THICK					
33 TRAFFIC CONTROL 1 \$250,000.00) LS \$250,000.00	\$362,000.43 \$362,000.43	\$520,000.00 \$520,000.00	\$1,290,000.00 \$1,290,000.00	\$480,000.00 \$480,000.00
Unit Price Total	\$6,512,881.30	\$8,172,645.00	\$8,432,335.84	\$8,722,927.31	\$9,166,783.88
(3) LSBE/DVBE/SE Preference Amount		\$0.00	\$0.00	\$0.00	\$0.00
(4) LSBE/DVBE/SE Adjusted Amount		\$8,172,645.00	\$8,432,335.84	\$8,722,927.31	\$9,166,783.88
Comments		APPARENT LOW BIDDER			